H & 0l & AHS B Ml A

20243 = =0k LB

H AL

A AL

MM MY RALSTE

&l E2AIE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
rar-=inl; 28,218,018 29,254,370 1,036,352
= 6,824,357
== 5,183,832
[Ea 16,209,829
ANgezALetLd 3,255,228 4,521,961 A1,266,733
= 91,185
Ea 3,164,043
C2AIE 3,231,540 4,493,828 N1,262,288
=S 90,000
s 3,141,540
C2AE 27,540 102,788 NT5,248
201 et 3| 8,340 86,788 AT8,448
01 AtR2tc|bI 6,180 84,016 NT7,836
NEZAE PRI ARSEHI
70,000 * 122 840
NEZAE SRFE A
8,000 x4 »453] 1,440
NE20IE I3 dA=g
70,0002 x5 *43] 1,400
N2+ AdHEH 2
500,000 *3H 1,500
NEZSE XE M 100,000& * 105 1,000
02 S3=4gl 2,160 2,772 N612
NRES LU 180,000& * 12 2,160
202 04| 13,200 10,000 3,200
01 2K 13,200 10,000 3,200
NEZAIE PREX JUL0I
60,0003 x4 »453] 10,800
NEZAE PRFX SR I
60,0003 1 »403] 2,400
203 HR=AH] 6,000 6,000
03 A= PR F&IH| 6,000 6,000
NS L oatetE &5
6,000,000& 6,000
A2 =A2e 1,813,000 2,086,000 273,000
401 AIEHIZ SR HYI 1,813,000 2,086,000 A273,000
01 Al&HI 1,810,000 2,080,000 A270,000
NEE - sHEZZ SRl
100,000,000 100,000
NEZ HYSX 24l 400,000,000 400,000
NAE S-St sSHECZ SEFAY
550,000,000& 550,000
NsEEZ JI2 & A= =8
300,000,000 300,000




2H: HED
B (YCRALHTE
chelr S2AIA (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
NAE NS~ sHEEZ SRZHIA
10,000,000 10,000
NADE JHIAY 450,000,000 450,000
03 AlZ = THHI 3,000 6,000 A3,000
NXYE2RX 22/ AFE FE
3,000,000& 3,000
ANgEsR2el(2X) 552,000 1,405,040 853,040
401 Al HIZL 01| 552,000 1,405,040 853,040
01 A=l 550,000 1,400,000 850,000
nNetd ME~=82 R3E2 HE ALY
550,000,000 550,000
03 AlZ = THHI 2,000 5,040 A3,040
N AE~SE2 RIE2 HEAY
2,000,000& 2,000
NLE=2RA0IHARH(EX) 90,000 90,000 0
< 90,000
101 e124d| 90,000 90,000 0
S 90,000
03 BRA(RIH L) 22U E > 90,000 90,000 0
NXEE =23 124H| 90,000,000& 90,000
== 90,000
SHEZZHES 537,000 537,000
401 Al HIZL 201 537,000 537,000
01 Al=H| 537,000 537,000
1otz 04224 SHESZ SHYEIA
537,000,000 537,000
C2EHI(FUFAIA) 130,000 130,000
401 AlZHIZ S 0HHI 130,000 130,000
01 AlZHI 130,000 130,000
NHIZ €508 ot ZEAY
20,000,000& 20,000
NE=x e 0t Jtedle &X
20,000,000 20,000
NEx Abl0e SEAIE EX
20,000,000& 20,000
1otel 23el dgEz & ol X
20,000,000 20,000
Ng=z =2 3 Az
10,000,000& 10,000
Ngs 01282l &2 &z
20,000,000& 20,000
Dofgustn o =2 HM RS AY|
20,000,000 20,000
CE2HEAE 82,000 0 82,000
201 L2 82,000 0 82,000




FA AL
B (YCRALHTE
chelr S2AIA (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
01 AtR2telbl 82,000 0 82,000
NEZEs & MEXHTL
10,000 +6007K* 102 60,000
NEZHMEEH 2=
550,000 #2CH+200H 2~ 22,000
LUy 23,688 28,133 A4,445
< 1,185
s 22,503
Faf=F=. N 23,688 28,133 A4,445
= 1,185
s 22,503
101 e124d| 14,909 14,546 363
== 1,078
= 13,831
M4 JRHNZ2Z2XSE+ 14,909 14,546 363
120244 WESTAH(ZE) Q12|
78,8302 *15024+(39, 4402 x50 ) 13,804
120243 WEEZAHKEE) Q14|
78,880 *12H+(39,4402 x4H) 1,105
< 1,078
s 27
201 L2 6,379 9,487 A3,108
= 107
fia 6,272
01 AFS2t2ltl 6,379 9,487 A3,108
NEEALY S5 Q]
2,000& *10Z5+500HK 1,000
NARK SZHA 42
800,000& *4=] 3,200
N=28X A29A BES)| =22
50,000& *1524 750
NHEHEPRFX A
8,000 » 1602 480
NHEHE AR ARESH
70,0003 * 123 840
1202449 DESTAHKLE) BESEHT 2
109,000 109
= 107
i 2
202 044l 2,400 4,100 A1,700
01 =LA LI 2,400 4,100 A1,700
NHEHME JRFA SR AL
60,0002 «1& %403 2,400
SHMAD|BHEH 24,951,390 24,721,109 230,281
= 6,824,357
== 5,092,647




SA AL
M Sl MAD| R
el sgolet (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 13,034,386
sgolet 13,757,018 12,826,992 930,026
= 2,000,000
= 3,390,375
= 8,366,643
S20|gt 27,536 6,630 20,906
201 er2 3| 23,216 3,480 19,736
01 AtR2telHl 3,216 3,480 N264
N=gIIgt ARSI 70,0002 128 840
NsgoIgt R A
8,000 338 *993] 2,376
02 S5=24g4l 20,000 0 20,000
NsYIIBAIE HIIQ3 20,000,000 20,000
202 04l 4,320 3,180 1,170
01 =LHA LI 4,320 3,180 1,170
=0t YRFE ALY
60,0002 x3&»19& 3,420
Nsgllgt REN SRE IU0I
60,0002 x1& » 15 900
Bi==OHE (F2E) (2 X) 2,000,000 0 2,000,000
= 2,000,000
401 AlZHIZ SO 2,000,000 0 2,000,000
= 2,000,000
01 Al&H| 1,721,200 0 1,721,200
NR2URT IS A
1,721,200,000& 1,721,200
= 1,721,200
02 Zeltl 250,000 0 250,000
1S2X 7 Uh=IHE A 250,000,000 250,000
= 250,000
03 Al 20HHI 28,800 0 28,800
NR2AXT IS A 28,800,000 28,800
= 28,800
2 2I[EHEH|(2X) 115,000 160,000 /45,000
401 Al HIZL S 0HYI 115,000 160,000 /45,000
01 Al&HI 115,000 160,000 /45,000
NS Z2EXF I35 =018 A=A
20,000,000 20,000
N2 AJIXF I Ss18 A=A
20,000,000 20,000
Nex XNGXF JIHS =08 2SAY
15,000,000 15,000
1)etzh 8H=2XI7 JIst Es018 REAY
25,000,000 25,000




S AL
. YLD
el sgolet (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
N2 D2AXF I Ss018 RSAY
10,000,000 10,000
NHIS =8X7 JHS =08 REAY
10,000,002 10,000
DHIZ SAXIT JIHE SsIl8 PEA
15,000,000 15,000
ZIIBEYI(2X) 1,000,000 2,100,000 A1,100,000
401 Al HIZL 201 1,000,000 2,100,000 1,100,000
01 Al&HI 1,000,000 2,100,000 1,100,000
1EIBHEH] XA 1,000,000,000& 1,000,000
2o|etE I (HEALY) 2,537,875 2,368,500 169,375
=S 2,536,875
s 1,000
401 Al HIZ R 0HbI 2,537,875 2,368,500 169,375
== 2,536,875
[Ea 1,000
01 Al&HI 2,527,875 2,346,961 180,914
1) 218 HI A 2,527,875,000& 2,527,875
S 2,527,875
03 A& S CHYI 10,000 21,539 A11,539
1EIIBHEHIAIY 10,000,000 10,000
[ 9,000
Ea 1,000
e X Hel(HEArY) 375,000 62,500 312,500
= 322,500
o 52,500
401 AIEHIX SO 375,000 62,500 312,500
= 322,500
o 52,500
01 A28l 372,500 62,050 310,450
NUHPEBXHCIALY 372,500,000 372,500
== 320,350
o 52,150
03 Al 20HHI 2,500 450 2,050
NUHRE AT HIAL 2,500,000& 2,500
= 2,150
= 350
NE=222HL(HEALD) 3,211,571 2,700,000 511,571
401 AIZHIX S0 1,428,571 1,000,000 428,571
01 AlZH| 1,343,571 854,500 489,071
DX HESS 2L A 1,343,571,000& 1,343,571
02 2/l 80,000 82,500 22,500
DX E=EZHL A 80,000,000 80,000




SA AL
. YLD
el sgolet (SH9 H2)
~ - L=
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 Al 20HHI 5,000 63,000 /58,000
NXE=S LA 5,000,000& 5,000
403 MR HHMSAHE01H 1,783,000 1,700,000 83,000
02 SISOt =2 A P E A I 1,783,000 1,700,000 83,000
DX HES=S 2L A 1,783,000,000& 1,783,000
IIHSH SR 2L (M EALY) 1,014,286 1,500,000 A485,714
401 AIEHIZ SR THYI 1,014,286 1,500,000 A485,714
01 AlZ8| 1,011,286 1,425,750 A414,464
NIIHSEXHZ SHL ALY
1,011,286,000& 1,011,286
03 A2 CHYI 3,000 74,250 AT1,250
NIIAEEAZ SHZIAY
3,000,000 3,000
J|BHEHI(FRIE A0 2,812,000 2,639,000 173,000
401 Al HIZ S OHbI 2,812,000 2,639,000 173,000
01 A28l 2,812,000 2,639,000 173,000
NXE EHEOS =2 HHIAIY
30,000,000 30,000
NATE SE0t2 2 SAt
30,000,000& 30,000
NAEE Hd&32 Abk- HEDS tH+=2 Hd
Ar& 30,000,000 30,000
Nz ¥s s22% 20,000,000 20,000
NAEE JHE0IE =s3X M2 ZHIA
30,000,000& 30,000
el stwel sIIBAIE FHIAMY
25,000,000& 25,000
Nl SE12l s2 Z& SA
20,000,000& 20,000
el SA22l 52 FHIAY
20,000,000 20,000
Nl 2012l s2 Z& SAt
20,000,000& 20,000
1o oHat4el ASbi~2 XA
10,000,000& 10,000
NBE 72X sZ2EE SA
15,000,000 15,000
NEE ot =22 EXSA
15,000,000 15,000
NEZ ZR0IE sS2EZHAMY
15,000,000& 15,000
1A +=Z0t2 =2 ZHIAI
20,000,000 20,000
NYX Ms0t2 =2 FHIA
20,000,000& 20,000
YA 3Ha0LS =2 HHIAIY
20,000,000& 20,000




Za - B2l(3) - AIRAY - BAS e
7o S2EE A
20,000,000& 20,000
JtoXIotE =8 23
20,000,000& 20,000
=0 LEH 2LSAt
20,000,000 20,000
EELD P 20,000,000 20,000
Oldits seIgt =4
20,000,000 20,000
22 HHIME 20,000,000 20,000
del ti=2 Hdl At
20,000,000 20,000
sttel s2 UM
20,000,000& 20,000
dZel s2 ETESAM
30,000,000& 30,000
H2el =2 ZEHSA
20,000,000 20,000
0222l s2 ZHIAE
20,000,000 20,000
AEiSe B2 Fb]
20,000,000 20,000
GtEHAMCI B2 Fb]
20,000,000 20,000
GtEisel ti=2 &4
20,000,000 20,000
olEi=cl Or=ote Bi+=2 HH|
20,000,000 20,000
Sl SR & A A
20,000,000 20,000
CEHIC 52 ZEAE
20,000,000 20,000
el s2 ZEAE
20,000,000 20,000
U=cl sEIIEAIE ZHIA
20,000,000 20,000
tiel == H8IAIE
20,000,000 20,000
AMIE SZ2EZE M
20,000,000 20,000
OtXEl =2 SHIAI
20,000,000 20,000
1)etzh OHNE] s+=2 FHIAY
20,000,000 20,000
NBZ SNE 52 3227
10,000,000& 10,000
NE3 Has FHISA 25,000,000 25,000
NE3 01=2 =2 228l
10,000,000 10,000
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S AT
M = MAT| P
el sgolet
S A - BRI - NRA - BES of e A
YA SZ0H2 =2 F
20,000,000& 20,000
DA E2H M=Kl et
20,000,000& 20,000
NeX fSX==X Jet*E
20,000,000 20,000
NEX SR MLEs
20,000,000& 20,000
1R BHAF WA S AL 20,000,000 20,000
NS MSX+ NFA =4
20,000,000 20,000
NX 202 s+2 3A
20,000,000 20,000
NI dux==x JetRE
20,000,000 20,000
NYRE oIl 2176 HAHSAL
30,000,000& 30,000
1LXHA CHol2l 2399 HAHSAt
30,000,000& 30,000
NYXA &2l 465-1 IHASA
20,000,000 20,000
NYXH &5Fel B =2 L&
20,000,000 20,000
NYXH OISl 143 HHIA
20,000,000& 20,000
NYXA Zlel 321-3 HHZA
20,000,000 20,000
NYXEA 0152 3H-1 HHSA
20,000,000 20,000
NYXH C&e| 358-30 =22H
20,000,000& 20,000
NYXH EFe| 3BFB =2 XE
20,000,000 20,000
YR 2t A91-1 IHHSAL
20,000,000 20,000
YR Z4te] 363 HAHSA
20,000,000& 20,000
N2 EOS =2 ELAY
30,000,000& 30,000
A2 st20ts Bi=2 8
30,000,000 30,000
Ni2 208 s22F 20,000,000 20,000
N2 7goe =2 gl
15,000,000 15,000
N2 21008 =23
20,000,000 20,000
N2 dA0E =2 HHAIL
15,000,000 15,000




A A4t
S SHMAD|EHEH|
el sgolet (S &S
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
NE=x =802 =2 ZH|
20,000,000 20,000
NEX U0 ti+2 Jel
20,000,000& 20,000
DEZx Z0H0tS HEAIE AX
20,000,000& 20,000
NEx 2002 =2 £X
15,000,000& 15,000
1512 QIR s2EH 20,000,000 20,000
Nalel AM57 =2 A
30,000,000 30,000
NEA ezl s=2 38| 20,000,000& 20,000
NEA B2 52 &Y 20,000,000 20,000
Nets SSX7 S8 A2lR4
20,000,000& 20,000
DerE 0K s2ZE ALY
10,000,000 10,000
NeHE SSH4=Al JetRE Al
22,000,000 22,000
DetE el d==Xl 2tRE At
22,000,000& 22,000
1ets EFS1MKl J2tRE Al
22,000,000& 22,000
DA HEM4X JetRE Al
22,000,000 22,000
Derx etE2 MKl Jet2E Ak
22,000,000& 22,000
Dot &8 s2XE AtY
20,000,000& 20,000
1)L OIS ZZEHIAMY 20,000,000 20,000
NotE AM2 s2 25 30,000,000 30,000
1)otst steel =2 SnH
20,000,000& 20,000
NE2 0182 =2 SHEE SA
15,000,000 15,000
1)2E 21002 =2 F
20,000,000 20,000
DE et 32l s2EESA
20,000,000& 20,000
N FH0I8 s22E 15,000,000 15,000
NYEN e S22 20,000,000 20,000
nE2 s 2 &l 10,000,000& 10,000
NXE ZHel(612-1) s2 XX
7,500,000& 7,500
DXE 2H2l(366-1) =2 ZF
7,500,000& 7,500
DAC 282l(1986) =& Z&
15,000,000 15,000




A A4t
S SHMAD|EHEH|
o9l saoe EER-E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Nl JIE3e s2 & 20,000,000& 20,000
NEL gt =8 X
15,000,000 15,000
N2 =£0ig =2 =&
20,000,000& 20,000
Nalel 2x2 g2
30,000,000 30,000
D& 232 =22 212 3l
20,000,000 20,000
1A tHelOts =2DIetAld &l
40,000,000& 40,000
1EN HEOHS JHH &X
20,000,000& 20,000
DAE ZEel(422-2) =2 =&
10,000,000 10,000
NEL SA0E s2 X8 2 38 &X
20,000,000& 20,000
DX AF0HS =2 Jbl
20,000,000 20,000
D2 !l =2 F4l
20,000,000 20,000
NEIZ MA&0Ee =2 &&
20,000,000& 20,000
NEx otEe| =2 &X
20,000,000 20,000
Nex C2tel =2 &4l
20,000,000 20,000
NAlel AEiMe1? s2 &Yl
20,000,000& 20,000
220N S (M BALY) 663,750 500,000 163,750
& 531,000
= 132,750
401 AlEHIZ20HY| 663,750 500,000 163,750
& 531,000
i 132,750
01 AlEHI 625,750 496,400 129,350
DAL 4=I0 & AFS 625,750,000& 625,750
= 500,600
= 125,150
02 eyl 34,000 0 34,000
DARZUN=IHS AN 34,000,000 34,000
= 27,200
= 6,800
03 Al = CHHI 4,000 3,600 400
DNAFR2E= & AL 4,000,000 4,000
& 3,200




2H: AL
. YLD
o7l s (9 &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| | = 800
sEE> 11,194,372 11,894,117 A\B99,745
= 4,824,357
= 1,702,272
Ea 4,667,743
sEET 35,045 421,959 A386,914
201 fet=23y| 9,105 47,409 /38,304
01 A2zl 9,105 9,729 N62%4
EABLE ASEEY| 70,00024* 122 840
NSABGE +TBA 242
109, 4003 *62H 2 6,783
NEAE 22 7
3,000&*62H 186
sige geEd HjA
8,000 38 +543] 1,296
202 04| 5,940 5,550 390
01 =LHO LI 5,940 5,550 390
NEgs ADEA AH0i)
60,0002 3 #3332 5,940
401 Al HIZ 2018 20,000 94,000 AT74,000
01 Al&H| 20,000 94,000 AT74,000
N=g& M==Xl Mg Fhl
20,000,000 20,000
Ng2e|g 2 ME+SAHEE) 10,134,327 7,072,158 3,062,169
= 4,824,357
= 882,272
Ea 4,427,698
401 AIZHIX S0HH 10,134,327 7,072,158 3,062,169
= 4,824,357
= 882,272
= 4,427,698
01 Al&H| 10,057,536 7,015,263 3,042,273
NA2 SXBKT XL2Ae/LEH HE A
402,449,000 402,449
= 335,374
= 67,075
N AFIXT NL2elL TN HE+A
197,766,000 197,766
= 164,806
=S 32,961
X Za2X7 X2/ TR HE A
259,716,000 259,716
= 216,430
== 43,286




S AT
I SHAMAD|BHEY|
SRS ST=IN (SHol: 12
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
1) &L ORI =X 7 K222 |8 X2 ] e 4
s 250,186,000 250, 186
= 208,488
= 41,698
NHIZ A=XIAX R K228 1 e
AFSA 423,317,000& 423,317
= 352,764
& 70,553
NXE BFS1X7 K22l 2XM JHE =AM
357,732,000 357,732
= 298,110
= 59,622
NXE QPSR Kt |8t RHl JHE2=Al
joa! 119, 136,000& 119,136
= 99,280
& 19,85
7)ol SHAIXIT K222 XM HE =AY
137,006,000 137,006
= 114,172
= 22,834
7)ol 2K 7 Xlgh2e| g XMl JHE 4= A
178,704,000& 178,704
= 148,920
& 29,784
1) &4 SHAIZB2K 7 X222 |22 H Ml N2 4=Al
i 178,704,000 178,704
= 148,920
= 29,784
1)E&AF SHAIB AT K28R H JHE2=Al
& 357,732,000 357,732
= 298,110
& 59,622
NEA HDEX P K22 2R JHE2=Ab
i 119,136,000 119,136
= 99,280
= 19,856
1EA JIMIE X7 K28 A JHE2=Al
& 119, 136, 000& 119,136
= 99,280
& 19,85
1)LEH @E3X 7 Kr2el 28X JHE =AM
238,272,000 238,272
= 198,560
= 39,712
NXE X P 2122 XM HE =AY
397,120,000& 397,120




2A:

rar=inl
4 AL |EHE|
ciel: moiES
RA - I BRA(E) - HRA - BES of vy A

= 397,120

Nale] ASEHXT N2/ EEHM HE LAt
g 178,704,000& 178,704
= 148,920
= 29,784

Nalel X7 Xg2elLEM HE =AY
178,704,000& 178,704
= 148,920
< 29,784

1)QHEL OHDIXI T K22l ZAH JHE==At
277,984,000 277,984
= 138,992
s 27,798
i 11,194

NYX MSKF RL2elLEH HE=ALY
277,984,000 277,984
= 138,992
S 27,798
ia 111,194

NEA MEIXF KL LEM HEFALY
258,128,000 258,128
= 129,064
S 25,813
a 103,251

NAE LEXF XL2elLEM HEFAY
178,704,000 178,704
= 148,920
S 29,784

1)5tel 222X+ NY2e|L N HE+A
178,704,000 178,704
= 148,920
== 20,784

1)otel SSRsXF NL2AL|UEH HE>
Are 397,120,000 397,120
= 198,560
== 39,712
T 158,848

1)t AZFXF X2 /LEM HEA
i 198,560,000 198,560
= 99,280
[ 19,856
T 79,424

1)5t2 M22X|7 Xg2e|LEN HEFAY
198,560,000 198,560
= 99,280
< 19,856




FA AL
HE: SOMAD|BHEEY)
o9 sass (249119
. = SIE]
S - B - SRA(SH) - NRAY - BES 0l & e Bl S
[ia 79,424
1ot ARIIEXIF K2 |eEH HE S
At 238,272,000& 238,272
= 198,560
= 39,712
N2 XK T K| LM HEAY
(HeEE) 245,000,000 245,000
NYX YFIXF KLl LEH HEFAY
(Wee) 176,400,000& 176,400
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4,253,000 4,253
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03 Al 20HHI 6.830 21,510 214,680
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= 1,166
NEx FEXF FelAE HESAY
500,000 500
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NEx KT =2AE HEFALY
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dY2IFHI(AHAED) 11,400 11,300 100
=238l 11,400 11,300 100
JlEZdl(ete AL 11,400 11,300 100
201 2= 1,560 2,100 AB40
01 At22t2lt] 1,560 2,100 2540
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